FIRST TERM WORKSHEET 2014-15

CLASS: I
SUBJECT: MATHEMATICS

Fill in the blanks (M. Tables 1 - 10)

3x8= 2X9=
2 X 5= 8 X 10=
8X4= 2X 4 =
3X2-= 9X7=
7X5= 4X1=

Write the missing numerals:-

62, 63,
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What comes just after:-
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SX8=

3X 10=

9X 6 =

8X9=
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Write the numbers names for the following numbers:-

156

992 —

4 —

212

1000 -

613

846

356

440

88

Write the numeral for the followings:-

Seventy three

Four hundred thirty &

Nine hundred seven

Two hundred Eight

Five hundred thirteen

Three hundred ninety one

What comes just before:-

e——az 43 881
- SR 11 - 369
593 620
440 991

229
777

100

243
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What comes between:-

39 m 569 571
135 137 443 445
651 653 789 791

Write the place value of the followings:-

]
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Form the numbers for the following:-

|
I —_—1 — 3
' l‘—yso 0

—> 500 : * 500

Write the place value of underlined digit:-

73 469 338
958 878 66
972 314 106
815 512 254

299 ____ 301

309 ______-31¢%
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Give / Write the expanded form for the followings:-

89 = Tens + Ones
+
41= Tens + Ones
654= Hundreds + ‘ Tens +
+ +
999= Hundreds + Tens+
+ +
871= Hundreds + Tens+
+ -+
250= Hundreds + Tens+
Ea +

Write the correct numeral / Fill in the blanks:-

60 + 3= 200+0+3=
700+ 20+ 7 = 100 +50+9 =
300+50+1=__ 900 +10+4 =
500+30+5= .

4tens+bones=

8tens + 0 ones =_

Ones

Ones

Ones

Ones

30+0=— —
800+50+4=

600+70+ 8=




3 hundreds + 2 tens + 7 ones =

8 hundreds + 9 tens + 2 ones =

Shundreds + 0 tens + 4 ones =_

2 hundreds + 6 tens + O ones =

Ring the greatest number:-

1) 69,

4) 856,

7) 845,

97
235

248

Ring the smallest number:-

1) 93,

4) 430,

283

2) 83, 50, 32

5) 128, 509, 382

2) 625, 639, 614

5) 829, 672, 479

Arrange the numbers in increasing order:-

a) 89,

b) 234,

c) 637,

d) 435,

e) 310,

36,

999,

275,

503,

742,

90

205

806
368
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Arrange the numbers in decreasing order:-

a) 76, 21, 69
b) 25, 97, : 98— |
T
e oms, s
e) ;, - 620, 800

Fill in the blanks / Add:-

8+6= _ _ L O
e3+4=_ = 80 +40=_
65+8=__ - 30+10=
94+0= 70+20=_

Add the following:-

9 2 3 24 72
+ 7 + 6 + 3 + 24 + 13
+ 9 + 4 + 31 + 41
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Add the following/ Find the sum:-

27 20 40 47 65
+ 20 + 15 + 10 + 62 + 64
56 38 75 33 52
+ 23 + 21 + 71 + 33 + 73
443 604 300 165 576
+ 524 + 254 + 223 + 423

+ 600

Choose the correct answer and fill in the blanks:-

1. 10+6= (106, 16, 160)

2. 200+70+9= (379, 297, 279)

3. The sign of addition is

(x,-,+)

4. The answer in addition is called

5 7+3= £7 (37,37

6. Zero added to any number gives

(Sum, Difference, Product)

as answer.

(Next number, same number, Zero)

7. The numeral for Three hundred six is

(36, 360, 306 )
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Add the following :-

23 36 19 67 35
+ 8 + 6 + 43 + 49 + 95
79 49 72 64 58
¥ 57 + 58 + 89 - 36 ¥ 33
35 24 63 38 57
+ 43 + 18 + 25 - Sl ¥ 26
+ 13 ¥ 37 ¥ 47 + 24 + 44
Fill in the blanks:-
a) 10ones=1
b} 10tens=1
c) 10 hundreds =1
d) The sign of addition is
e) Changing the of numbers while adding does not change the
answer,
f) Zero added to any other number gives the as answer
g) When we add 1 to the number the answer is the

The answer in addition is called the
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Write in correct place and Add:-

a) 29+ 28 b) 35+ 99
d) 78+80 e) 65+9
fy 303+24 h) 813+54

Match the following:-

20+6

400+ 8

10 ones

10 tens

7+0

8x8

c) 40 + 84

f) 39+6

i)380+7

408

26

1 hundred
1ten

64
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Complete the pattern of numbers: [ Counting in 10 s only ]

a] 736 , 746 , , ; :

b] 280 , 290, ; , ;

c] 472,482, ; )

d] 801 , 811, : ; ;

e] 530 , 540 , ' . ;

Write the place value of:
a] 9 in 96 =

b] S5in 145=_______
c] 8in 38=_______
d] 7 in 873 =
e]0in 404 =

| Write the place value:

a] In 56 , the place value of 6 is at
b] In 832 , the place value of 8 is at
c] In 70, the place value of 0 is at

d] In 67 , the place value of 6 is at

e] In 891 , the place value of 1 is at

Write the number that comes just before and after.

aj 78 e] 754

Bl @32 fl____ 100

c] 60 g] 638
d___ 291 _ h]____ 980_
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Do the following:-

1. 8children acted as lions and 6 children acted as rabbits in the school play.

How many children were in the play?

Answer

2. Amit takes 7 minutes to solve the first puzzle, 6 minutes to solve the second
puzzle and 9 minutes to solve the third puzzle. How long does he take all

together to solve all these puzzies?

Answer

3. There were 65 Hindi story books on the shelf and 47 English story books on

another. How many story books are there in all?

Answer

4. Sara did her Math home work in 90 minutes and E.V.S Home work in 45

Minutes. How long did she take to do all her homework?

Answer
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5. 85people live in Arun’s building and 23 people in Tom’s building. How many
people live in both buildings?

Answer

6. The Zookeeper spends 75 minutes feeding the elephants, 20minutes feeding
the monkeys and 15 minutes feeding the bears. How many minutes does he
spend in feeding the animals?

Answer

7. There were 37 houses on one side of a street and 49 houses on another. How
many houses were there on both sides of the street?

Answer

8. There are 18 boys in Sheeba’s class and 8 boys in Fatima’s class. How many
boys are there in all?

Answer

Prepared by : Shaik Shabana .

[ I & Il Boys Section ]
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